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Harmonized Wire Coding System

Specification and voltage

Types
Harmonized determination ...cccieviiiiiiieiiieiiiierereeiecseocennees
Approved national TYPe... s s nonvevnsanssmeers

Nominal voltage Uo/U
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Insulation material

BVL standard gp 104700 vevnsmunnnnsmnnan e
PVC heat resistant up to +90°C.....c.oereneeeeeee e,
PVC crosslinked.......ccovviuieiiiiiiinniinnieiieiesecscsssenesee s eens
Rubber up 10 £60°0 i iisisiinimasssisssssninisimnisssssisisisses
Rubber Hp 10 900 s nann s na s
Rubber up to +110°C.. ... i cecrieeecee e e ereae e
Halogen free thermoplastic compound........ccccovuenieninnrnnnnns

Sheath material

PVC standard up 10 +70°C ....onirieiriiiiiieieeercecre e er s e e
PVC heat resistant up to +90°C......cccuemerieeiiiierceeee e e
PAG-CrosslinKe0 o wninivemsmuinissstsssmmooni: sossumossuny
POIYUrEtNANE iocisissisisrinsansnsssinsssensisssssssssssssssssnssavapissnns
Rubber up 1o 460°C......oeiieiiiiiieir e e e e e
Polychloroprene Rubber up to +60°C.....ccveerverenrerenenennnnenes
Rubber up 1o 490°C..... oo eeeeere e e e ee e
RUDDET UptO-F) TG isisine s s
TERIING BRI B . . oo emeuein amnmmmamaiisg s s Soman wmmips S55/a w1 e
Halogen free thermoplastic compound.......cceevvnvvrenenininnenne.

Special qualities in construction

Flat, dividable Wire .....ccccevuiiiuiiiiiiiiiicceccs i ceccs e
Flat, non-dividable Wire.....c.cccovuueirrreireeninniniiiniencneennenen
Dual-layed extruded wire for lighting chains.........cccccuuee....
Coil=snilable. Wile o iiniesiiiuir st

Type of construction
SINGICECOTE usenassticisssiin cisie s sveitnsnisisnestintunssiiiannasainissins
MM = CONB e conn s G e R e AR

Flexible, for fixed 1aYing ...ccevveveveereiiieieeerrrere e reees
Bl RBIE: oot snnvecntiinemstuguss issmmssstssminsdritimanevetinennasiibbbese

Number of cores

Earth-wire
Without arth-Wire ...ee et eee e saaeas
Willrearth=wiremgreen=y e oW s vrnmmvsmavmaroness

Nominal cross-section of
conductor in mm?
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